Algebra | Ki\’ Unit 10 - Exponenhal Equahorns NG tes/Prochce

Name: Date: o
~ General Form: Growth/Decay: - Compound ln’etesr
y=a(b = a(l+71r)
(b)* \'6 y = a( ) y=P (1 LT )
a: y-intercept, sforhng a: y-intercept, starting "P-initial amount
point/initial amount point/initial amount r: rate (%) - convert to decimal
b: common ratio, r: rate (%) - convert to “n: # of times compounded per
growth/decay decimal . year
x: fime t: time ‘ttime
Key Words: No Percent Key Words: Percent (%) - Key Words: Compounded
doubk b=2 Mnmﬂjf(eody -1 =N
- k b=3 ! Semi-Annuglty -~ 290
J'“Pk b" 1 Quarterly -4 N
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1&5 ou deposit $1500 in an account that pays 5% interest compounded yearly. Find the
balance after 6 years.

P= 1500 nsycmy—)a. - \5.,(\*_.__?_)
= 4. = = '

r 57 .06 ¢ ) Nz 5

¥ The mice population is 25,000 and is decreasing by 20% each year. Write a model for
this situation. What will be the mlce population after 3 yeors?

a= 25000 £t=3 y = 25000( \-. 2.)
r‘ ?’o.l- ") .7. r’ lL,BOO
M_ The number of mosquitoes at the beach has tripled every year since 1999.In 1999

W

there were 2,500 mosquitoes. Write a model for this situation. How many mosquitoes
would you predict were at the beach in 2005¢

A= q_soo X= 2005-1999 = b y= 2600(3)"
?kd ').3 rs' \ 021 60
otey invested $1500 when he was a freshman in order to save for college If he

CO“‘ ‘_S ~hooses to invest it in an account that earns 3.5% interest and is compounded
annually, how much money will he have after 4 yeors? 035 -4

< |500 n= anhualy = 1 —
P | 3.57 - .035 t=4 |

x [ bouqht a car for $25,000. but its value is depreciati
much will my car be worth after 8 years?

A= 16000 =8 26000( 1~ ')
rs lo/")l Yg |0,1h|b$\

er year. How




